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1 fx) =x3—-3x
2 f(x) =3*%+x3
3 f(x) = e**!
x*—6
. Fo) =2
5 f(x) = (2x — 1)°
6 f(x) = 3sin(x) + 3
x> +2x+3
7 fx) = .
8 f(x) = 5e*
8
9 f(x) = e
x3—6
10 fo) ==
11 f(x) =cos(x) —2x+6
12 _3
F@)=+5
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Opgave | Functie Primitieve Letter
1 fO) =27 —3x F(x)=%x4—1%x2+6’ \/
2 f@) = 3% + x° o3 1, £
F(x) _ln(3)+Zx +C
3 flx) = e¥+t F(x) = e¥*1 4 ¢ L
x*—6 1 3
A fx) = >3 F(x) = sz + oz +C r
5 f) = (2x~1)° F(x)=ix3—2x2+x+C r
3
6 f(x) = 3sin(x) + 3 F(x) = —=-3cos(x)+3x+C e/
—x2+2x+3
fx)=—7F— 1

7 X F(x)=———2—F+C P
8 f(x) = 5e* F(x) =5e*+C .L

8

fx) ==
9 x? FG) = ——+ ¢ e

X
x3—-6

flx)=—H
10 * x F(x)=1n|x|+xz—3+C n
11 f(x) =cos(x) —2x+6 F(x) =sin(x) —x?>+6x+C L
12 f(x)=;+5 F(x)=2In|x|+5x+C m
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